(t- test)

(Pretest - Posttest Control Group Design)

40

(t-test)

(X)



(x)

(N)

40

40

126.70

128.45

(X)

(S.D))

S.D.

18.76

20.95

X
17.45 3.47
16.85 3.73

( .D)
(X)

80



(t- test independent)

(X = 128.45)

(N) (X)

40 126.70

40 128.45
7

18.76

20.95

(X =126.70)

.05

(t- test)

.39

81



(t- test independent)

(N)

40

40

(X) (.

17.45 3.47

16.85 3.73
(X =17.45)

.05

82

(t- test)

74

(X = 16.85)



83

10
X)
(S.D.) 9
(x) (S.D.)
(N) X . X
40 149.85 15.72 31.20 4.52
40 129.82 21.64 23.12 6.74

)



(t- test independent)

10
(N)
40
40
* P < .05
(x = 149.85)

(X)

149.85

129.82

10

.05

15.72

21.64

84

(t- test)

4.73*

(X - 129.82)



11

(t- test independent)

(N) (X) (.) (t- test)
40 31.20 4.52
6.28*
40 23.12 6.74
* P < 05
1
(X =31.20) (x= 23.12)

.05



(t- test dependent)

12
(N)
40
40
* P < .05
(X - 149.85)

.05

12

(X)

126.70

149.85

(.) (t- test)

18.76

5.70%

15.72

(X = 126.70)

86



87

13
(t- test dependent)
(N) (X) (.)) (t- test)
40 17.45 3.47
16.26*
40 31.20 4.52
* P < .05
13
(X = 31-20) (X = 17.45)

05
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